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Grade 4: Unit 5 Pre-Test %{-—%\f
Use the partial product method to multiply. (Show your work) 4.NBT.5
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Sukna used an area model to show how she multiplied 23 x 42. 4.NBT.5

4) Write numbers in each section of the area model, then write the product to complete the

equation.
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§:}5 } Explain how your model shows 23 x 42. 4.NBT.5
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Estimate whether the answer will be in the tens, hundreds, or thousands.

Circle the correct box. 4.NBT.3
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9 Find two numbers that may be rounded and added together to make 40.
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10) Explain your thinking.
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A child sleeps an average of 9 hours per day. How many hours does a child sleep
during a 5 week time period? 4.0A.3
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In the United States, there is an average 0f29,000 commercial flights in the sky each

and every day. { 3,000 3 4,0A.3

13) About how many commercial flights are in the sky in one week? 20,000
e
~ 14) About how many commercial flights are in the sky in two weeks? Y20, 000
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15) Are more or less than a million commercial flights flying in the sky in 4 weeks?
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Explain your thinking.
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